DIvISION WITH A REMAINDER II (H - SET 1)

DIVISION WITH A REMAINDER Rame:
Time: Score: y—
1) 192273 = 0 = 256) 25064 = 6 =
212) 7900 = 2 = 27 15380 =+ 2 =
213 67824 +8 = 2% 3886 + 3 =
211) 19618 = 9 = 209) 20124 =4 =
250 55033 + 7 = 260 8416 + 1 =
216) 20180 + 3 = 261 6854+ 6 =
2u7) 3860 = 1 = 262 21875 + 7 =
218) 66983 =— 9 = 263) 28680 = 6 =
219) 32465 = & = 261 25003 = 10 =
250) 8407 =— 2 = 205 13184 + 5 =
251) 5544 = 4 = 266) 6008 = 3 =
252) 46583 = 5 = 267 18293 = 2 =
253 5196 = 1 = 268) 20917 -9 =
1) 51724 = 9 = 260) 12384 = 2 =
255 55440 =— 9 = 270) 13962 =5 =
Mathematics: Division - Level § - Horizontal - Set 1 10 culu
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